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Multi-players M =9 : Cumulated centralized regret, averaged 40 times
9 arms: [B(0.01)*, B(0.01)*, B(0.01)*, B(0.1) *, B(0.12) *, B(0.14) *, B(0.16) *, B(0.18) *,

B(0.2)*]
——— - —
o * —& — = ——

A/_—=/v_’ ) " " )
é 4 " N " " «
*
__o— * 5 —

__— . —

—— A
— o~ —
102 103 104

Time steps t=1...T, horizon T'= 50000,

tretires

RERSRER

SIC-MMAB(UCB-H, T, = 265)
SIC-MMAB(UCB, T, = 265)
SIC-MMAB(kI-UCB, T, = 265)

RhoRand-UCB

RhoRand-kI-UCB

RandTopM-UCB

RandTopM-kI-UCB

MCTopM-UCB

MCTopM-kl-UCB

Selfish-UCB

Selfish-kl-UCB
CentralizedMultiplePlay(UCB)
CentralizedMultiplePlay(kl-UCB)
MusicalChair(T, = 450)

MusicalChair(7T, =900)

MusicalChair(7T, = 1350)

Besson & Kaufmann lower-bound = 0 log(t)
Anandkumar et al.'s lower-bound = 0 log()
Centralized lower-bound = 0 log(t)



